
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 
 

 

𝒇(𝒙) =

{
 

 
𝐬𝐢𝐧(𝒙𝟐 − 𝟒) + 𝟓,     𝒙 > 𝟐

𝟓,     𝒙 = 𝟐

𝒙𝟐 + 𝒙 − 𝟔

𝒙 − 𝟐
,    𝒙 < 𝟐

𝟑

𝒇(𝒙) 𝒂

𝒇(𝒂) = 𝐥𝐢𝐦
𝒙→𝒂

𝒇(𝒙)

𝑥

sin(𝑥2 − 4) + 5 5
𝑥2+𝑥−6

𝑥−2

𝑓(𝑥)



 
 

 

𝑥 = 2
𝑥2+𝑥−6

𝑥−2
𝑥 = 2

𝑓(𝑥) 𝑥 = 2

𝑥 < 2 𝑓(2)

𝑥 > 2 𝑓(2).

𝑥 2

𝑓(2) = lim
𝑥→2−

𝑓(𝑥)

5 = lim
𝑥→2−

𝑥2 + 𝑥 − 6

𝑥 − 2

𝑥 = 2.

2 𝑥2 + 𝑥 − 6

2 −3

𝑥2 + 𝑥 − 6 = (𝑥 − 2)(𝑥 + 3)

lim
𝑥→2−

𝑥2 + 𝑥 − 6

𝑥 − 2
= lim

𝑥→2−

(𝑥 − 2)(𝑥 + 3)

𝑥 − 2



 
 

 

𝑥 − 2

lim
𝑥→2−

(𝑥 + 3) = 2 + 3 = 5

𝑥 2

𝑓(2) = lim
𝑥→2+

𝑓(𝑥)

5 = lim
𝑥→2+

sin(𝑥2 − 4) + 5

𝑥 = 2

lim
𝑥→2+

sin(𝑥2 − 4) + 5 = sin(22 − 4) + 5 = sin(0) + 5 = 5

5 𝑥 2

𝑓(2) = 5 𝒙 = 𝟐.

𝑥 2

𝑓(𝑥) ℝ



 
 

 

ℝ


